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QUESTION 1

You conduct a Total Cost of Ownership survey of your Data Centre. Which of the following is an indirect cost?
A. The cost of upgrading cooling equipment.

B. The cost of installing a server rack.

C. The cost of introducing redundant storage.

D. The cost of the power consumption of a server.

Correct Answer: D

QUESTION 2

Which of the following describes Carbon Neutrality?

A. Eliminating CO2 emissions from product manufacture.

B. Maintaining CO2 emissions at a pre-defined agreed level.
C. Balancing CO2 emissions with an equivalent offset amount.
D. Matching CO2 emissions between defined business areas.

Correct Answer: C

QUESTION 3

What is a key factor driving Green IT?
A. Customer satisfaction.

B. Technical opportunity.

C. Social pressure.

D. Legislative compliance.

Correct Answer: D

QUESTION 4
Which of the following are benefits of virtualisation?

a) It reduces the number of physical servers required. b) It reduces the level of individual server utilisation. c) It reduces
the amount of server support required. d) It reduces the energy required for data centre cooling.
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A. cand d only.
B. b and d only.
C. b and c only.
D. a, c and d only.

Correct Answer: D

QUESTION 5

A Green IT Action Plan should be?

a) Transparent.

b) Measurable.

c) Actionable.

d) Removable.

e) Time based.

A. ¢, d and e only.
B. a, b, cand d only.
C. b, c and e only.
D. a, b and e only.

Correct Answer: C
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